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2.1. 00O

Udp 130000, 0000000DO0000OL0DOOOOOOODOO.

o0oo0DG=(V,A)UOOOoOooooo,0ddooooooooooooooooD G
O000000.000GOOOO0,00TCADQOOOO0 H=(V,)OOOOOoooOoO
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O.G007TCAO0DODO
w(T) = w(a) (2.1)
a€T

000000 w0 TO00 (weight) 000. G=(V,A)000000000,000
O000000000000000000 (minimum-tree problem) 00000

O000000000D0000 (greedy algorithm) 00000000 O0OOODOOO
gooo.



Algorithm 1 00000000 (DODOO (Kruskal) DOOOCDOOO)
Require: 00000 G=(V,A),0000 w:A—R.

Ensure: GOOOO T.
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00000000000000007T0,G0000000 |T|=n-1000. (n0O
0000.000,r=|V|) 0000000 210000,0000000000000
0007T0,000r»-1000000000000000000000,000000
00000.0000,000x-,-100000000000000000000,000
0GOO0000.000,000000000000000070,G00000000
0oooooooo.

000g¢g=(V,A)OOTOOaee A\TOOOO,Tu{e}000000000000
0.00000C(Tle)000,T0«000000000000000

022 (000 GO0 TO0000000)0 w:A—R; (b)TOa=(fk0000
00000000 C(T(e) ={(a f),(f.k),(k 9),(g,d), (d,a)}
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DDDDDDD,DCLEA\TDDDDDDDDDDDDDDD C(T‘a)DDDDDDa/D
god

w(a") < w(a) (2.5)
godogoogogno.
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Algorithm 2 00000-000 (Jarnik-Prim) 0O0OO0OOO
Require: 00000 G=(V,A),0000 w:A—R.
Ensure: GOOOO T.
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